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81.6400 N EZHBNRI S BERS [P
81.6500 ZEEEREEAR ]
81.6600 2 AR ]
81.6601 2 IHEBIREY REEIAR L
81.7200 EIEXDISRXBREAREEA =R
81.8101 ATLBLERAR ]
81.8201 XPBEIBEEXBRAEHAR [
81.8301 BIERERZAR =
81.8302 BXBHEEAR [E]
81.9301 LHEXPEESAR =
81.9302 FEIESES A =K
81.9400 BXBHEXDERITESAR =%
81.9401 BXAPEESA =9
81.9402 BXDHEESAR =9
81.9403 BEADEESA =9
81.9404 EEEaR =9
81.9500 Hih PR XD EATESR =9
81.9501 TEXDEESAK =K
81.9502 THEESES AR =K
82.2200 FNAFERITIERAR =
82.3501 ERIETERRAR =5
82.5300 FNEBHE =
82.5301 FENBIESSEA =%




FARIZERED FARIZESMR FAERI
82.5601 FERLBRIEEA =
82.5801 FEPANPIBIEA =
82.6901 BISRIRIBAAR =
82.9101 FEPERRIAREA =K
82.9102 FERAPIREEAR =9
82.9103 FEPNBEFENEAR =9
83.1901 ALPIHARER =4
83.3903 EREEIRtIIEA =9
83.3904 FERRBRFEIRIIIE A =%
83.6301 KEAERAR =K
83.6401 HBREES A =&
83.6403 BIEsES A =K
83.7501 ABEEEIE A =K
83.7700 ANsEIEEkIsEAR =K
83.7702 ALEZHREETE A =&
83.8202 ERlEISEA =%
83.8401 HEH B HR(EVANS)F R =4
83.8600 BRIYLANLRERZA =9
84.0000 L&A =9
84.0102 FigEEA, BRI =9
84.0201 1BigEERA =K
84.0202 BIS X EA =
84.0500 SHISHIAR =
84.0701 LEREEHA =%
84.1000 TEEEEA =K
84.1100 REE A =%
84.1101 BT ERAAR =K
84.1102 ZHUERRAR =%
84.1103 R SLERAR =9
84.1200 ZEHEA =9
84.1501 I\EEERRA =9
84.1701 KEEEERAA =9
84.5100 HEESHENSEENEN =R
84.5501 B=EEKREZRAR =%
84.5601 XBEEEKEEZRA =%
84.8001 TRSREEMNEA =%
84.8201 HSIEhHIEERSEEAR AL
84.8202 HSIRMDEEEEEIRA L]
84.8203 BHERBEAR ]
84.8204 BHERKEFEEAR ]
84.8205 ZEHESIRITREEAR =%
84.8300 HSIRMDIEERENESER L]
84.8301 SEERKBIESEAR L]
84.8400 HEXTHEREENEAEERA [E]
84.8401 HEXTHERESNEA ]
84.8402 HEXTEHEIRESNER U
84.8500 HEXTHEREENESR L
85.2200 FLESRRIDEEA =%
85.2300 LERSIEAR =
85.2301 FLERERSIEEA =K
85.3200 WMgE L EREREAR =
85.4100 A EEEL EIEAR =9
85.4300 B XRYAEZL R R =9
85.4301 BMZLIRRIRIAR =9
85.4302 BMIRZLILIRIBIRIAR =9
85.4303 AR EET| EIER AR X IR B SN AR =4
85.4401 RNZLIRIRIRIAA =
85.4403 W R LT BRI T BN ER AR =%
85.4500 BRI ZLEIRRAR L
85.4501 R MZLIRE S IR LE]
85.4600 BB HEZLEIIERAR AL
85.4700 BB KIRiatEILEIIERAR L]




FARIZERED FARIZESMR FAERI
85.5500 FLEEASARTEE =
85.8400 e RIMEEEILRE =%
85.8701 FLLEEREAR =&
85.9400 ERAEEAND =%
86.0701 SKIRRGEIEAR =9
86.6201 FhEEHFEEEAR =9
86.6301 S EFLERRBER =9
86.6500 SHNZENZEEK =9
86.6501 BEEEAR =%
86.6702 AT EBBIEEAR =%
86.6901 NERRBEAR =
86.6902 FEERTSEA =K
86.6903 SLEERERERE A =%
86.6904 IRFEREREAR =K
86.7000 T B2l BT tE =&
86.7100 o BZilsk BRI iE At IR FEH AR =%
86.7104 ISSRIERE IR A =9
86.7105 wERIBRISA =9
86.7200 e RIRsERtER =9
86.7301 SPSEZIRA =9
86.7302 EREEIRAR =
86.7401 BItEETIMEE AR =
86.7402 BTN BRI EA =&
86.7403 WS EIREEA =
86.7404 HERERRIRISEA =
86.7406 EERASFERIRIEEAR =%
86.7407 AN SEREZIRIE A =&
86.7500 e NS IR EEE R =%
86.7501 EZiliselR =9
86.7503 BRIEEEAR =9
86.7504 SR, NER. BERIMESR =4
86.8201 ESHEAAR =4
86.8305 IEEEEERCR =%
86.8400 BB BREEIAEREIAIEAR =%
86.8401 ERRRRIAERA =&
86.8500 FiE () FIER =R
86.8501 FSFIEAR =
86.8502 HIHFIEAR =
86.8701 BiSIERREEAR =&
86.8900 EZBRFNEZ AL E EF AT TFEAR =%
88.4000 FIEbRIEhBKIERIAR =9
88.4101 [ =9
88.4102 BEEMEISS: =9
88.4200 EikiEsz R =9
88.4201 Sk SiEss =%
88.4202 I ETNBKES: =
88.4203 FEhBkiES: =
88.4204 [CEFAsea =%
88.4205 [EETIIseEA =%
88.4300 BbEhRkiESAR =K
88.4403 S EhikiEss =
88.5000 DIMEERAR =9
88.5101 REEabkiEsRs =9
88.5102 ThsEaBkiES2 =9
88.5200 AOIRLEEAOCIMESSIAR =9
88.5201 AILBIER =9
88.5202 ALEER =
88.5301 ELEES =%
88.5302 ELEER =%
88.5500 SRS ENFIRMKESZA =%
88.5600 ARERSENEREKESA =R
88.5700 HittilRISIsiEKmbkERZ AR =&




FARIZERED FARIZESMR FAERI
88.5701 SRS ERIARIBKISS? =%
88.6000 FBXIELRIERBKIS R AR, RISIERIER( =&
88.6200 A LRI fERpkE S A =
97.5506 RETEEXRENHA =%
97.5601 HETREREER =
97.5902 RETEEZEIEA =K
98.0302 REETT+ e RN ER =%
98.1501 JEIASERYEEAR =%
98.1503 SESTSERPIER =R
98.1504 SESESERYEA =K
99.1001 TFhEEhBkEIEAR =%
99.1002 BREhBkE B AR =5
99.1003 ThEEKEE AR =%
99.1007 BhshBk IS iaRERIET =%
99.1008 BEEhBkPIEIE A =
99.1009 IRk EBIE A =
99.2501 EhBk LTI E =
99.2502 Bk EEHEIT 5 =%
99.6100 LESEAR =

00.3200x001 MRA#EZSAniEEMEL =R

00.3400x002 SiitENEEIML =%
00.3500x001 REShitSNHEHEIME =%
00.3900x001 T EsHENIMEL =%

00.5000x001 ROUEREREANR L]

00.5500x008 ZEIEFRBKESHERST 2 BAR ]

00.5500x009 ZEEEhBR AR ZIREAR AL

00.5500x014 Z RPN IEEAR L

00.6100x008 Z RIS EIBKEREY KRR =]

00.6100x012 2 B2 EmarBKERERY SRR AR =%
00.6200x005 Z B ARIAThBKEREN SREEEAR AL

00.6200x006 Z R KBRBIhAKEREN SKEERE AR L]

00.6200x007 ZRAKRNEThEKEREN SKREEEE AR [P

00.6200x008 Z BEZHThBX AP ERERERY SRREEEAR L]

00.6200x009 Z BERAIThBX AP ERERER SKREEEAR L

00.6300x005 Z Rk imiRRIPEEEAR =%

00.6300x006 SETHREETEEAR ]

00.6300x007 ZEERThBR RIS Z IR BEA AR L]

00.6400x007 ZRERMIEZESAR LS

00.6400x009 ZRMRBKZIEBAR L]

00.6400x012 ZERIMEBEIREPEEEAR ]

00.6400x013 ZEHThIXEAYRI TR BEAR L]

00.6400x014 ZRMEEETREAR L]

00.6500x008 ZERAHMKZREEAR L]

00.6500x010 ZEMADIKEIRFEIPESEAR LE]

00.6500x011 ZEMARIKEZEEAR L]

00.6500x012 ZRABBIZIRZREAR L

00.6500x013 ZRABREHZEEAR ]

00.6500x014 ZEARPHTEEAR ]
00.6600x004 ZREBIRKIRE SKEREAR =%
00.6600x008 Z R ARENBRES YRR SKREZAR =%

00.7000x001 EXBBREBEBER L]

00.7200x001 BXADRESRERER L]

00.7300x001 BXDRETRMERELEmER L]

00.8000x001 LBXDRISEER ]

00.8400x001 BXDRESHHREER L]

00.8500x001 LEXDERASIRA ]

01.1000x001 FEMIPIFIBEAAR =%
01.1100x001 2 BT =
01.1200x001 SRS TRIEFRMSE ]
01.1300x001 2 FIGES =

01.1300x002 M EMRER L]

01.1400x001 =S PG EARIRE =R




FARIZERED FARIZESMR FAERI
01.1800x002 BERBREAR ]
01.2100x001 FRERBKENTHER R ]
01.2400x005 FREA L]
01.2400x009 FRAIBRBRS A =
01.2400x013 TERRIE/ MBS AR =%
01.2400x018 ARSI AR =
01.3900x002 BAKRNAFAR =
01.3900x003 AR MAikfEEE SIS liEAR =%
01.3900x007 BEEDFA =%
01.3900x009 BEP M BhSEE A ]
01.3900x012 ZHMNZBRPI M AREERAR L]
01.3900x013 MFERMRR MRS EER =%
01.3900x016 IEBRAPEERISRA =%
01.3900x017 M EBRIFSIRAR L]
01.5100x001 FHEREERAERIE AR =
01.5100x006 KBiRRERRIRIDERAR LE]
01.5100x007 \IREBREESEIRIIBR AR ]
01.5900x022 ENEEFRIDEAR ]
01.5900x030 PR EwRIRIIEAR ]
01.5900x032 FEak LGRS AR ]
01.5900x036 BOECEIRA ]
01.5900x037 KBEEBRFIRITIEA ]
01.5900x038 KBGEERFEIRITIEA ]
01.5900x040 s EIRIR AR ]
01.5900x041 IS IHERIERA PP
01.5900x043 R IREIEE AR ]
01.5900x044 NERHFE BRI A IR DR AR L
01.5900x048 SHXHERIRAR ]
01.5900x049 HBAILEHERIDEAR ]
01.5900x050 HRAE FIREHRTEA ]
01.5900x051 HEZRE FIEHERTEAR ]
01.5900x052 IEMEREEA ]
01.6x00 R EIRRIESAR =K
01.6x01 FRPISERPEIEE A =
02.0300x001 e EIMERA =
02.0400x003 g BIEEEA =%
02.0500x004 FREESRIREAR =%
02.0500x005 FEEINEEIRBEAAR =%
02.0600x003 g A =%
02.1100x001 TEREIEEE e AR =
02.1200x001 HiE TRHESREREHAR L
02.1200x002 SR FREREERAR L]
02.1200x003 [R=tE FIS ARiE bR L]
02.1300x001 ERE FHEREKEEEAR =R
02.1300x002 IEAEPENBKEEFLAR =
02.1400x001 BREE FRKEEARIIAR L]
02.2100x002 BESEERA =
02.2200x001 HERE TEZRERSEAR [E]
02.2200x005 BRE-SIKEDHAR =%
02.2200x006 HEAB T EBREER U
02.2200x007 IEtE e R R EAR L]
02.3200x001 BE - AR =
02.3300x001 Iz -BIE SRR =
02.3400x002 I=-SESER =%
02.4200x005 OmmayaREREIEER =
02.9300x001 RSN RREAR ]
03.0100x001 EREYERA L]
03.0100x002 HERERTIERAR ]
03.0100x003 BERETHEERERIIEAR ]
03.0100x004 HERIMNEIRIDEREAR LE]
03.0100x005 HEIMRZIRBIRTEA ]
03.0900x003 HiEEREH S RER ]




FARIZERED FARIZESMR FAERI
03.0900x004 BRI MEEREAR L]
03.0900x005 SRR EREAR MR
03.0900x006 SRS RER ]
03.0900x007 IR TIBE RER ]
03.0900x009 EREEAR ]
03.0900x010 ERER ]
03.0900x014 EHFLRER ]
03.0900x016 HEEFAIFR ]
03.0900x019 BERERSIKIDAAR ]
03.0900x021 HiEEEFLEFURER ]
03.0900x023 Mg SRR RER ]
03.0900x024 FERIRR IR IR RER ]
03.0900x025 IEEEFSHEIRIIIRRER [P
03.0900x026 EEEEERIIERER ]
03.0900x027 B SISHHRRERZA ]
03.0900x028 BRI SIS E RIEAR ]
03.0900x029 ERMmiSiEAR =
03.1x00 BHERHEIRIDER LLE]
03.1x00x001 ERHZIBIIEA ]
03.1x00x003 DEHEZIA ]
03.1x01 BIEEIRMMEIDEAAR AL
03.1x02 BIERIIRIEIIRAAR L]
03.2100x001 ZEEHEERA ]
03.2900x003 BEEENESTIEAR ]
03.2900x004 BUERLESIIRAR ]
03.4x00 BB SRR AR AR [P
03.4x00x001 BEEREREIRITEA [y
03.4x00x002 BEERIRIREAR ]
03.4x00x004 ESEREAR =
03.4x00x007 BEEEISHEIRAEEIT AR =%
03.4x01 snBEmIRtIBRAR L]
03.4x02 EEEERNSRA L]
03.4x03 SiEmEIRIDERAR [LLE]
03.4x04 EEEFEIRIIERAR L
03.4x05 BEEIEIMNEIRIIIRAR L]
03.4x06 EEIE THEIRIDERAR LE]
03.4x07 RE THERFERITIEAR ]
03.5100x003 SRR REAR =
03.5200x003 BIESNEERA L]
03.5300x001 BEEIRSRA ]
03.5900x005 EEEERR =
03.6x00 SHEHESIEHENREAR L]
03.6x00x008 SRR LATIRRA Mm%
03.6x00x010 BRESEREAR L]
03.6x00x011 BERREREAR ]
03.6x01 BSHEHHEIRER LLE]
03.6x02 SHEHSIRFNERREAR L
03.6x03 EHEERIRFEIRREAR L]
03.7100x001 BUE RS ER =
03.7900x002 SHE- MR FRESREAR [LLE]
03.9900x004 BEENFSER =
04.0100x003 IFHREEIERAR =
04.0200x005 SXHZ RIS S IR =%
04.0200x006 SERE F=HESIEA ]
04.0300x003 BHZIRIIEIA =
04.0300x009 B ERIIETAR =
04.0300x010 SRR SIRETEAR =R
04.0300x011 HEHED ZIDEAR =%
04.0300x012 IRtRZTIEAR =
04.0300x013 EEWEEA =R
04.0400x031 EHZEER =
04.0700x031 ERE THMEHEIRIDERAR L]




FARIZERED FARIZESMR FAERI
04.0700x032 ERETEaREEIR =R
04.0700x033 TERIHREREIIA =
04.0700x035 IRt TEIRIIBRA L]
04.0700x036 SRR HERIEAR ]
04.0700x037 BERZHERITEA PR
04.0700x038 ShREZHEIRIDEEA U
04.0700x039 SIRHZHREAR [y
04.0700x040 EEMZHIRIIEAR ]
04.0700x041 ETHZHERINEA L)
04.0700x042 Bl HEIRIERA L]
04.0700x043 TaREHIRITEAR =%
04.0700x046 B EHESHEIRINERA =%
04.0700x048 IERHZHEIRITIEA =%
04.0700x052 BiZmiatlia R =%
04.2x00 AN B EE A R =%
04.2x00x001 BhiE@EE S REREA =
04.2x00x018 ZRFRIFHRRHEDRIRAR AL
04.2x01 BRI AR =
04.2x02 BERZHEITEAR =
04.2x03 RERRENA =%
04.2x04 BUHZHIEAR =K
04.2x05 SHEHEIRSTERA =%
04.2x06 HEBFLIR TEN EIEEHERNZ SISTERIAR =%
04.2x07 =R WZGHTERA =
04.2x08 =REZE B PIRREAR =%
04.2x09 B PEIEAR =
04.2x10 B Q&R =
04.2x11 BhiE#R R EHSTERIAR =
04.2x12 RBEHE KSR =%
04.2x13 HERIRT I TA =%
04.3x00 A EWEASEE R =%
04.3x00x012 BAmZE h, TFESAR =%
04.3x00x017 HiZ B EMa A =
04.3x00x018 BiRZEmaR =K
04.3x00x019 TaEMaR =
04.3x00x020 BHEZENSAR =K
04.3x00x024 RBHZEaR =K
04.3x00x026 HSHEmaR =
04.3x00x029 ElZEaR =
04.3x00x030 A ESAK =%
04.3x00x031 ETHEZEEAR =
04.3x00x032 RHZEaR =
04.3x00x033 BHRZEEA R =
04.3x02 EHZESR =
04.3x03 EEWZES AR =%
04.3x04 IRREZEEE R =K
04.3x05 BEHRESAK =
04.3x09 NEREZESAK =
04.3x10 ErhiZEa A =%
04.3x11 RBRESA =
04.3x12 RABZEE S R =
04.3x13 BREESAR =%
04.3x14 AFLIREESR =%
04.3x15 PEHZESAR =
04.3x16 R EEA R =
04.3x17 BHZEaR =%
04.3x18 HihiZaga R =K
04.4100x003 ERWZREAR =
04.4100x004 BRE=XHEZEFBIREFEBEAR =%
04.4200x006 ZERMEaMSHER =%
04.4200x007 R FBERELR =
04.4200x014 EHZIRINEEAR =




FARIZERED FARIZESMR FAERI
04.4200x015 =RZIRENEIRAEAR =%
04.4200x016 BHZEER =
04.4900x033 {ERMZIEAR =
04.4900x034 ERZIEAR =K
04.4900x035 I R IARRR =%
04.4900x037 BEHZNEAR =
04.4900x038 EERZIBELENREAR =
04.4900x042 BERZEAR =%
04.4900x043 HEREAR =K
04.4900x044 ERER =
04.4900x045 BEREAR =
04.4900x046 ERREZIAEAR =%
04.4900x047 FAEIAEAR =%
04.4900x048 WHREEIARAR =
04.4900x049 B LLHBENRBRAR =
04.4900x050 IRHREZIAEAR =%
04.5x00 Fisk EEMEIBEAR =%
04.5x00x024 RERHEESEER L]
04.5x01 HHEZEER L]
04.5x04 RBZBEAR =
04.5x10 HEBZHRRIBEAR =
04.6x00x014 R#ZaiBEAR =
04.6x00x018 BT BaAR =%
04.6x06 BhEIRREE A =R
04.6x07 MSHEBRIA =
04.6x08 ERHZBRIA =K
04.6x09 BEiBEAR =
04.6x10 RBEBAAR =%
04.6x11 BB AR =5
04.6x12 BB AA =K
04.7400x032 HRE- S BEMER =5
04.7400x033 HA#HEZ-mHEMaR L]
04.7400x034 EZMEaR =
04.7600x018 EEBZERIEHAR 4%
04.8100x003 BERE LS =%
04.9201x003 RS RIHEESEEAR WP
05.0x01 BIBsE T A Rt RAAR =
06.0200x001 RREREIFHEEAR =%
06.0900x004 MERIREA =
06.2x00 SRR TR AR =%
06.2x01 B8 TERMIFRRIR IR AR W
06.2x02 A ERIKER D BR{E FRAR R ISR ER AR W
06.2x03 Ep( AR BRI BR (MM B D HIER AR =%
06.2x04 B ERAKER DR CE ISR E M H BRI ER AR =%
06.3100x001 ZRRIRISEIRISTERAR LS
06.3100x002 ZERRIEEIRGGEERAR L
06.3900x001 BRRIKIEAZREAR =
06.3900x003 B ERIRIR SRS IR AR =
06.3900x004 SRR RS A =
06.3900x011 B FRIKRX SRR ]
06.3900x012 W ERIKIEER DTSR =%
06.3900x013 PGNP ENET S =)
06.4x00 FIKIRLERDERAR AL
06.4x01 HRRIKEIIERAR L]
06.4x02 B85 THRIRIESERIERAR L]
06.5100x001 BEETHEERKIERSEEAR LE]
06.5100x002 55 FRE ERIRERRIRTIE AR L]
06.7x00 FRIKEERA =K
06.7x01 PR EEFIRIIEAR =%
06.7x02 IR EEEIRA =
06.8900x006 SARREEFERIEAR L]
07.2900x003 5. LIRSS A ]




FARIZERED FARIZESMR FAERI
07.6100x002 ZEEFEDIIERAR PP
07.6100x003 ZTEEEIEMIRA ]
07.6100x004 SHEEFRIIEA ]
07.6200x003 S EESR SRR ]
07.6200x007 HERETEEE- BEERFRITER ]
07.6400x001 SEESDIMER [y
07.6900x001 EHIIEAR ]
07.7200x002 FIEBEBPIREAR [P
07.7200x003 }ise FG(Rathke's) BiIR AR ]
07.7200x004 =S TR SEERIMIRAR L]
07.8300x002 RS FRIRRAIRIIE AR ]
08.2000x005 IRESREIRIEE AR =%
08.3200x001 LTI TEEZERBA =5
08.3200x003 LTRTEFTNEBAR =%
08.3300x001 FIETERE FIRNGEEAR =R
08.3400x001 FETEIEIESRAR =%
08.3600x002 T TEREENEBA =
08.5200x004 IRIRSES A =
08.5900x001 B FEAR =%
08.5900x004 Rt RERZ AR =
08.5900x005 SPAtRERZA =K
08.5900x007 AtEFHES A =
08.6100x002 RIELEHEER =
08.6100x004 RIS ERIS SRR =%
08.6100x007 RiisEEEEAR ]
08.7100x001 IRISIELEFIRGEEA =%
08.7200x001 RIStREEREAR =
08.7300x001 RIE2EIRSEHEAR =%
08.7400x001 REE£ESEAR =%
08.8900x007 IRESZZ R AR =
09.3x00x001 BiEEBA =
09.4900x004 IBEEANYEER ]
09.6x02 iBEFEIRIEA =K
09.7300x001 BERER =%
09.7300x003 B EEEAR =%
09.7300x004 EEEER =%
09.8100x004 SRETEEAESOR =
09.8300x001 SERETFEETEEAR W]
10.4300x002 ZESERA =
10.4400x002 FIEEEEIEERAR =5
10.4900x003 ZEEHA =
10.5x01 IRENESEAR =K
11.1x00 fREIAAR =K
11.6000x002 HoRESEER =%
11.6400x002 XEBENRAEREA =
11.7300x001 AT fIEBEAR W]
11.9900x002 Bif RS THREEIA =
12.0200x003 TSR AR =%
12.0200x004 IREISIER IS ELE AR =%
12.1400x001 ITASERSTIEA =
12.3900x001 [WE LIRS =
12.3900x004 ITEEE A =
12.3900x005 STRS B RERE AR ]
12.5900x001 EBRsEAR =
12.6400x003 ETSIREAR [NRNEEAR] =R
12.6400x010 ETEEEA =
12.8900x001 MEEREBEA =
12.9900x004 SIS REIRA =%
12.9900x009 ESEsEAR =
13.1900x007 RIREEREREA =%
13.3x00 ERAGEIMEEAR, AR FLRER)E =R
13.3x00x001 SRR SIMIREIMNEIE AR =%




FARIZERD FRIEERIR FAREZ!
13.4100x001 BREEEILAHIEAR =R
13.4200x001 ZERRAREINEIRER =%
13.4300x001 BARARBIEIREAR =
13.5900x001 BREE/MEEAR =
13.6500x002 BEEEARERA =
13.7100x001 BREEREATRE—HEAKR =
13.7200x001 AISREZHEAR =%
13.7200x002 ATREBEAR L
13.8x00 ERENNRIKGE L]
13.8x00x003 AT REEHA =%
13.9000x004 BEIIAA =
13.9000x007 ATIRBEER =%
13.9000x008 AL RISHIIEIREA =
13.9000x009 AIRBEINIEER L]
14.0200x002 BRI A =%
14.2900x001 REIIERIE A =%
14.2900x002 PG EE T EDIE S =5
14.2900x004 RREAEAR L]
14.3200x001 EHRLSEAR =%
14.3200x002 MEIERFLLHAR =%
14.4900x001 RIEIRFLA L]
14.5400x001 MR BR BT SiaTT AR =
14.6x02 I EEHEVEAR =K
14.7100x001 BIAERIBIR(SIIEEAR [P
14.7300x001 BINRSIEISIAEIEIAR L7
14.7500x001 BIBEERERDTSER =R
14.7900x001 ATBBFBREBEAR ]
14.9x00x001 EESMAFLTE AR =R
14.9x01 RRIEE FEEAR L]
14.9x03 RMEN AR =K
14.9x04 RKEREE ERERRA =%
14.9x05 REIIEAREAR =%
14.9x06 RMEEER IR AR =5
15.1900x001 —sRIRIMNEHEAR =%
15.3x00 kR FIRIMNEE T MEBERBR AT AR, SPARsKINER =R
15.3x01 S RN EEER =R
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56.0x00x013 ZREHRESERESENEHANEA L]

56.0x00x014 ZRERRERESESEREFEANEGAR L]

56.0x00x015 ZRSHREERREREEaNaR L]

56.0x00x016 ZREhREESZEERaNaA ]
56.0x01 ZREBRE/SERYIEAR =%
56.0x02 ZREHRE/SZNaR =R
56.0x03 ZREHRE/SHSAEAR =R
56.0x04 ZREMRE/BRSEREFEAA =5
56.0x05 ZREHRE/SHiESEaR =R
56.0x06 ZRENRE/BRASEaNaAR =5
56.0x07 ZREHRE/SHESEHEEANAaAR =R
56.0x08 ZREHRE/BHBEFalNaGR =5
56.1x00 BRERESONAR =%
56.1x01 BElkE TREREOMNAR =%
56.2x00 BREAR =%

56.2x00x002 ZREERRERIIAAR =
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56.2x01 mERETIHNGAR =%
56.2x04 ISR FaREINFNGAR =%
56.2x05 BREE TRRENTAR =%

56.3300x001 ZREnRERERRE G =%

56.4100x008 RS TR ERIRIIIEAR =R
56.4100x011 SRS TR ERIRIIIRA =%
56.4100x012 ZREHREFRREIIEAR ]
56.6100x001 BRE-REOAR =

56.6100x003 BREEOR L]

56.6100x004 ERETRERE-EKEOAR L]

56.8400x001 MREEEAR L]
57.0x00 ZRISENSIRAR =%

57.0x00x002 ZREENEERERHEGAR =4

57.0x00x006 FRBIEREER MRS AR =%
57.0x00x007 ZRIBERRENEEAAR =%
57.0x00x008 ZREENEENEEEGINAaAR =%
57.0x00x009 ZREEREERSESEEFaINEaAR =R
57.0x00x010 ZREIENEENEEEaAR =%
57.0x00x011 ZRBEREERSESEEaAR =%
57.0x00x012 ZRBEHEENHSEGRGAR =%
57.0x00x013 ZREENEEREAHEGEGAR =%
57.0x05 ZREERBEEAA =
57.0x06 ZREIERSAEAAR =
57.0x07 ZRBERSESEEAAR =%
57.4900x001 ZREIENFEIREIIA =
57.5100x003 EES TRREFRINEA =%
57.5900x002 BEBEEE T REhEIRIER AR =%
57.6x00 SR BRI AR =%
57.6x01 BB KEBIDERAR =%
57.6x05 IEBkHIKITIEE AR =
57.6x06 ISEEE TFRERLER D tIER AR L]
57.7900x001 EBESIEAR ]
57.8400x004 ISR FRERL -PRIEEEHA =
57.8400x005 ZEPERERE-BRIEEE R =
57.8500x002 EBREEAR =

57.8700x005 ISEEtE T oA CAEREAR W]

57.8900x001 BEREEA AR =4

57.8900x003 SRS TIEMERBBA =
57.8900x004 ERmERAR =
57.9300x002 BERiES FESBtAR S iE AR =&

58.0x00 REIHA =
58.0x00x003 RiEIFHFEEA =
58.0x00x004 BB TRIEREDHAR =%

58.0x01 REIFNGA =%

58.0x02 FRiESEEOR =R
58.4500x001 FRIETZ I HARkZA =
58.4500x002 FRiE TR OHARERA =
58.4600x001 BB R RIS R R =
58.4900x003 RiE{Ex A =R
58.4900x005 SRR EFIRRERIAR =
58.4900x006 BREREEAR =
58.5x00x002 ZRERENHFAR =%

58.5x02 PEETRERONAR =%

59.0300x002 IEiREE T SEARHNEBERRAR L]
59.4x04 ZAE LEERREEHA (SPARC) U7
59.5x00 IEBEREERA L]
59.5x02 BEETRESERA PP

59.7900x002 ZIRETIRDREERAR (TVT) L]

59.8x00x001 IEBLE TIRRRE KA =%
59.8x04 RRSEHREREEANR =%

60.0x00x001 ZRERSIEIAAR[TUI-P] =
60.0x00x003 BIFIRRARBRS AR =%
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60.2100x001 ZREIESEAR[TULIPER] ]
60.2900x003 ZRERITIREHKSHAPVP) [
60.2900x004 ZRERFIRSEFHIIA ]
60.5x02 IEBEES TRIFIIRIRI S IR AR [E]
60.6100x001 BIFIERIEIRINEE A =
60.6900x002 IS0 TRuFIRNEE AR ]
60.7200x002 ZREEEREERalNaGAR L]
60.7300x004 SRS TEEIIEA ]
60.7900x003 REETREMR%A =
60.7900x004 EEETREmMMERA =%
62.0x01 EIRETREREA =
62.2x00x003 EREETRMENEEA =%
62.3x04 [ A A EEDI 5w =
62.5x01 ElRBENEER =%
62.9900x001 SRETENIFIEA =%
63.1x00x004 ERETRERRSAEILAR =%
63.1x00x005 RS TEEAKRIEILAR =R
63.1x03 IEEEEERIkSAEILAR =R
63.6x00x004 REETHRERBA =
63.8200x001 BEEMSAR =%
63.9900x001 ZREEERENEEEEREAR =%
63.9900x002 ZREFRENAR =%
64.2x01 FEEHIRINEAR =
64.3x01 BEZER SRR AR =%
64.4500x002 PEE B RRERA =
65.0100x002 IS FOPEIIFHEE A =%
65.0100x003 EREE TPEIIASRER =%
65.2500x003 ISEEE FOPEFEIRENIA =%
65.2500x005 ISEE TROPE TP EFRIAR =
65.4900x001 EA(MSRORES - GRENIRA =%
65.6300x001 ISBEES T4 BRI YR ISP EEFNESPE N IR A L]
65.7900x008 ISEEE TSRS A =K
65.7900x009 ISR oA E AR =
66.0100x003 EEE THMPENHSIRER =%
66.2200x001 SRS T RSPEDRTAR =%
66.4x01 ZIRERMIREPEIRA =%
66.4x02 IS A MR E IR AR =%
66.6100x003 ISEEEE T i IKBHMEIER AR =%
66.6100x007 SIS TR E RIEFIRIDIEA =R
66.6200x004 ISR TP E SRR IR EMIPEITRIDERA =%
66.7900x004 BOPEEILBEAR =R
66.7900x008 EEETERESLEER =%
66.7900x009 ElEE TRPES A =R
66.8x02 ISP EERA =%
66.8x03 SRS HIPEERA =
66.9500x001 IS0 TR E PSS EH AR IMTXESIAR] =%
66.9600x002 SIS TIROPE KA =
66.9600x003 ERETHPEREAR =%
67.2x01 ERREFESIERIIRA =5
67.3900x001 FIREFETRIatlEAR =%
67.4x00x002 FE@[ZHEIIEA ]
67.4x00x005 FEGEA =%
67.4x00x006 FEMabo IR (FARN) [ERF K] =%
67.4x01 FETEIHIEAR =K
67.4x02 BREF=HRAR =
67.4x03 ZIREFEINEA =K
67.4x05 SRS F IR =%
67.4x06 IEEEEERF SRR =%
67.4x08 EEBFEMHIRA =%
68.0x00x006 EEETFENARIER =
68.2100x002 FERELENEAR =%
68.2500x001 FEMKIEER =
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68.6100x001 EEETFE iz DA L]
68.6100x002 ERETFSHRElZHEIEAR L]
68.6900x001 FEOZHERAR ]
68.6900x003 FERZHRAR ]
69.1900x022 [SEEE T A HIRIEEA =
69.2200x006 FEEERA =
69.2200x007 EREETFE-RwaUERA L]
69.2200x008 IBEETFS -IRiREIEEEAR L]
69.2200x009 EEETF=-RaEEAR [P
69.2200x010 ZPEFE - EER ]
69.2200x016 IEIREE TIRE-ERw e SRR L]
69.2200x017 ISEEtE T ERE - BRI EEAR L]
69.2200x018 IS045 T EEiE -ERRIEEAR ]
69.2200x020 ZpiERE-ERRIEIEA L]
69.2200x030 FEaEER =K
69.4900x005 FEEHA =%
69.4900x006 EERETFEEHA =4
70.1200x002 IEEE R EMbS iEAR =94
70.3200x002 B FERMBIRTERA =9
70.3300x003 PRiEEIREIIAR =9
70.4x00 FRiEHAATI2 IR =%
70.4x01 FRiEINEEA =%
70.4x02 BEiE SRS IR AR =
70.4x03 PREASA =
70.4x04 BRiSERS AR =K
70.4x05 ISR B RN BRENEE R =%
70.5300x001 FRiE R EEE(EH A EED I RIEA =%
70.5400x001 PEiERIEEH AR IEEDRN A =%
70.5400x002 PREHIEREH RIEATEEA =9
70.5500x001 PRiE REE(EHh R EEED R HBA =%
70.6200x001 ATRBiERERA ]
70.6200x002 PEEREREA L]
70.6300x001 ISE=EE FESRSXIRE AR [P
70.7700x004 ERETIRERRA [P
70.7800x002 IRiE B BA (FEBEEkERF) =5
70.8x00 RS S SR =%
71.3x00x021 TS IARZRFIEZ TIASEARIRSEIAR =R
71.3x00x023 145 BZBAFN BZ FIAFELRLR N ERE IR =R
71.3x03 S BBERSIEEAR =
71.4x01 PEEEIRIIEAR =5
71.4x04 BREERERZA =K
71.5x00 tRia S BBINER AR L]
71.5x00x001 SRR iZ HEIRE AR U7
71.5x00x003 SMBBIRIB ERERT KiNERAR [E]
71.5x00x004 SMEBtRA I BERIEE AR U7
71.7900x001 SIPEIR T =RIZUGER AR =%
73.8x00 FIBRILFER IS G =
73.8x02 AR =%
74.1x00 REAFETERAE= =%
74.1x02 BEER, FETEENO =R
74.3x00 WP EIBRANEIRSERAR =
74.3x00x017 EEE TFERATRSRA =%
74.3x00x018 EEE T FERRTESEAR L]
74.3x00x019 ZIPEFSERTIERA L]
74.3x02 FERTRSERA =
74.3x03 FEFTIFRSRAR =5
74.3x04 FEBRITIRSRA =5
74.3x05 SR EIEIITREIEA =%
74.3x06 IEiEEFERITRERSRA =
74.3x08 EEEFEREERESRA =%
75.0x01x001 BYEEREMATEE TR =%
75.9200x002 EEIEmMpEEAR =%
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75.9900x004 ZIRTIRREIAAR =%
75.9900x006 SRR ESA =%
75.9900x007 FEESK =
76.0900x003 TaESFAR =
76.2x01 TaREBHERINEAR =%
76.2x02 FAREEIRIIEEA =
76.2x03 EEEiREtIA =
76.2x04 e EIEIEA =
76.3100x011 AR SRS IREA ]
76.3900x016 AR R SR =
76.4600x001 mEEEAR ]
76.4600x003 IEFPEEEEAR ]
76.4600x007 FagEER ]
76.5x00 BT aiXT kA L
76.7200x001 ES 2RISR =
76.7900x001 IEEETIASEAR =K
76.7900x013 ERESIRIASHEAEER =]
76.9200x004 TaABHIRBEAR =
76.9500x006 E e =
76.9700x001 EEREEESIEAR =%
76.9700x002 BEREEREIEA =%
77.2200x001 BEESA =K
77.2200x003 REELEER =%
77.2300x001 REB&8A =5
77.2500x001 IBEEEEAR =
77.2500x002 BE LiREaAR =%
77.2700x001 Hs&sA =
77.2700x003 RBREHEEA =
77.2800x001 HEEEAR =
77.2800x002 REEEAR =
77.2800x003 REHEEAR =
77.2800x005 EEE&EA =%
77.2900x003 BEEEBA =
77.6800x001 IEEEIRIIEA =
77.6900x025 BEEEREA =
77.6900x032 ERIRTIEAR ]
77.6900x039 EERIRTIIEA ]
77.6900x047 EEEIRIIEA =
77.6900x055 SERIRTIBRAR L]
77.7900x005 HEHNEAR [P
77.8100x009 ZiREh SR =
77.8800x002 BB SRR =
77.8900x008 BHEESIIRA ]
77.8900x013 HEBERDTIRE AR ]
77.8900x026 EESRSIIRA =
77.9900x004 BN\ ESBIMEHESIDREAR L]
78.0000x003 EMSESEEER =
78.0500x001 BREEEA =%
78.0700x006 HBAIBSHESR =%
78.0800x004 IREAISESAR =%
78.0900x008 HSEEAR =
78.0900x009 igEEEA =%
78.0900x010 EfEsA =
78.0900x011 ERMEES A =
78.0900x012 BEEEA =
78.0900x017 BEAIBEESA =%
78.0900x019 ERAISESR =%
78.0900x020 EEAISEER =%
78.0900x022 BEEEAR =
78.4600x002 BEEREA =
78.4600x003 BXDE FIREREAR L]
78.5100x003 BEREEEEBEEAAR =%
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78.5100x006 HENEREER =%
78.5100x009 hERiRAEIEAR =
78.5100x010 h &R REIEAR =
78.5100x013 BRSNIRAEEAR =%
78.5300x002 RENsAEER =9
78.5300x009 RERIRREEAR =9
78.5400x006 EENHREER =9
78.5400x012 BiXDiE TREBIHEEAR LE]
78.5500x003 BREERHAEER =R
78.5500x005 IR RRREEAR =
78.5500x006 RSN REER =
78.5500x007 IREIESTREEAR =%
78.5600x002 EENEREER =%
78.5700x005 ZENIRAEER =
78.5700x007 REIZSTAEEAR =
78.5700x009 FERRAEIEAR =%
78.5700x012 BXTE TREREDHESITEER =9
78.5800x005 RN REER =9
78.5800x006 RSN REER =9
78.5800x007 REIESTREEAR =9
78.5900x022 HSIRSTREER L]
78.5900x031 EEITREER =
78.5900x034 RN REER =
78.5900x035 AHEHESTREEAR =%
78.6600x003 BXTE TREEDRHEA =%
78.6800x006 IRENEEDEEAR =%
78.6900x010 HEREEDIEAR =%
78.8200x001 EEREROEE =%
78.8500x001 BEFHEROMEE =9
78.8900x002 HEFHEROEE =9
79.0400x004 EXTEITASSUAMEXD., EEXH. EEXD) =4
79.1100x002 EEEIRASSANHREER =4
79.1100x003 e EirAaS AU AEEAR =%
79.1100x004 LEBhASS MR REER =%
79.1200x003 RE8rASSMNEHREEAR =%
79.1200x004 e B inAaS AN AEER =R
79.1200x006 REBITHAaSMIZS I NEEAR =5
79.1200x007 RESFASSMERREER =R
79.1200x008 REEITASSMERHREEAR =%
79.1200x010 BEEBhASSNEREER =%
79.1300x003 BEErASSANHREER =4
79.1300x004 ZEEIRASSRHREER =4
79.1400x002 SEEIRASS SN REEAR =9
79.1400x004 IEEEiTAaS (iR REEAR =4
79.1500x006 BREEIRASEMEERREER =
79.1500x007 BREBIFAAS(INMAREER =%
79.1500x008 IREEITASSANR TRAEEAR =%
79.1600x004 BEEBirAaS (iR RAEEAR =%
79.1600x008 BXPBIrAaSINHREER =5
79.1600x009 HiBBhAa SR REER =%
79.1600x010 IS SIS SN REEAR =%
79.1600x011 S 2RSSR TREEAR =9
79.1600x012 REsirAaSiiitRRIEER =4
79.1600x013 BXPEIrMaSIZIIRAEEAR =4
79.1600x014 HEEirASSCENEREEAR =9
79.1700x005 REBTASSMNMAREER =4
79.1700x009 IREBIFAS SN REEAR =
79.1700x010 IRE BTSSR IAEEAR =%
79.1700x012 HEairAaSaNiRAEER =%
79.1800x002 eSS AREER =%
79.1900x006 BiIEBITASSMENEREEAR =
79.1900x007 e BIrAASINMAREER =%
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79.1900x009 %‘ﬂ:%%?ﬁlrﬂA§14EJ§m€+WIEIzE* =%
79.2400x002 EXOEINIASHARBEXT. Ei5XT. EExXh) =%
79.2700x004 IREEIRIIAS ﬁ =%
79.2900x004 EEEIRIHER =%
79.3100x004 B BNt S RIRE HiJIElzsvk =4
79.3100x005 B BRI FSCERIEREEAR =9
79.3100x006 EEESHIIASIZSTREER =4
79.3100x007 M2 SirIASMERTREER =4
79.3200x001 REBIIASCHNMEAEEAR =%
79.3200x002 REBIFIFSMERHABREAR =5
79.3200x009 RESHHIIASIZSTREER =&
79.3200x010 RE8intIASMNREER =&
79.3200x011 e B I RASANIEREEAR =R
79.3200x012 B BIIASMIESIAEEAR =5
79.3200x013 RESIIASCEERT REER =5
79.3200x014 RESIIASCHNEAEEAR =%
79.3300x005 EZEEBIIASCHRNRAEEAR =9
79.3300x006 EEBRIIASIZSTREER =4
79.3300x007 EEEIRIFSMERHABREAR =4
79.3300x008 E8BIASCHNEAEER =4
79.3300x010 BEBIrIASCHESIAEER =5
79.3300x012 B BRIASNREER =5
79.3300x013 B SRS REER =5
79.3400x002 58 BiIASCHESTAEEAR =%
79.3400x004 sEBINIFESCERHREER =%
79.3400x005 sEBINIFSCERIEREEAR =5
79.3500x016 BRESITIASCERIRAEEAR =5
79.3500x017 BRESIMIASMHESIAEEAR =%
79.3500x018 BEEIIASMERHAEER =4
79.3500x019 BESITIASCERHAEEAR =4
79.3500x020 BESITIASMSRZAEER =9
79.3600x008 HS 2 ASMSRREEAR =4
79.3600x009 BXPEIIASINEREER =5
79.3600x010 BEXSEIRIASHIZTREER =5
79.3600x011 EXBEINIASEERHAEEAR =5
79.3600x012 BXPEIRIASARTREER =%
79.3600x013 BEBIrIASCHNEAEER =%
79.3600x014 BEErIASZSTREER =5
79.3600x015 RESIIASMERTREER =5
79.3600x016 RBREEInIFSCERBREER =%
79.3600x017 HE B ASASHRREEAR =4
79.3600x018 HiS 2 ASIZSTAEER =4
79.3600x020 BEABE T X L S B S EEAR [P
79.3600x021 BXDE FEXXIELESnREIREMEER %
79.3600x022 X P ERESESIHIASMAEER =%
79.3700x010 HESRNASIRSTREER =5
79.3700x012 eSS N REER =5
79.3700x013 IREEIRIASHIRREEAR =%
79.3700x014 IREEIrIRASAHIREIAEEAR =%
79.3700x015 REBIFIASAIREIABEER =R
79.3700x017 e EITIASANAREEAR =5
79.3700x018 IREEIRIASAHHREER =9
79.3700x019 REEIRIASANRREEAR =4
79.3700x021 IRESIMIASKREER =4
79.3700x022 BRESIMIASKREER =9
79.3700x023 RAEEIRIASHABRER =4
79.3700x024 BEEINIASMREIEAR =5
79.3700x025 IEEESRIIASIZSTREER =5
79.3700x026 IEESRIASNREER =5
79.3800x002 A EEIrIASAIZTREEAR =5
79.3800x003 A EBIIASMEERTREER =5
79.3800x004 AESRINASNREER =5
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79.3800x005 A EBIRtIASMSNRREIEAR =
79.3900x001 ESEIRIASKDTNZREER =
79.3900x002 EEEIRIASEIZETREEAR =R
79.3900x025 E2EINIASZITREER ]
79.3900x026 BRI ASERHREEAR [P
79.3900x027 2RSS NEREER MR
79.3900x028 BRESIMIFASIZIAEER ]
79.3900x030 BRESIMIFASENHAEER ]
79.3900x037 EEBINIASMIZETNEIEAR =
79.3900x039 EEBIRIAS(INAEEAR =R
79.3900x040 BigEIRtIASMHESTREEAR =R
79.3900x042 gt ASCENEREER =%
79.3900x043 EBRBIMIASRRREER [P
79.3900x044 BiFEEIrIASEREEAR L]
79.3900x045 BEEIRIASAHIRAEER L]
79.3900x046 BREEIRIASCIZITREEAR ]
79.3900x049 BB EIFIASINEREIEAR =
79.3900x050 EEBIRIASINRAEEAR [y
79.3900x051 BigEIRtIASCHNMEREEAR =R
79.3900x052 EEEIRIASHRESRREER =
79.3900x057 S BIRtIASHREEAR L]
79.3900x058 IESERIASEAEER ]
79.6900x002 BRI SREeIAR =%
79.6900x003 e EanE Aot ﬁ*ﬁu* =%
79.6900x004 BEFESmEeIAR =
79.7900x002 Mwaenﬂm_LlilNEwk =R
79.8100x003 BEABRAIFASHABEER =R
79.8100x004 BHXBREIIAS R =
79.8100x006 BHXBIRAIIASMABRER =4
79.8200x001 HXBRAUNFASHREER =4
79.8300x001 B BERAIASEABEER =9
79.8500x001 BXADBRIIASHAEER =9
79.8800x001 FRER B RIS IR =
79.8900x001 REXBHEIIASER =R
79.8900x002 SRR ASHREER ]
79.8900x003 BERCIIASEAR ]
79.8900x005 BEXBINASHRBEEALR =
79.8900x006 BRI ASHREER ]
79.8900x007 EERCIHIIASMEAR [y
79.8900x008 MK BRI ASEREER =R
79.8900x009 OB SIS R A L]
79.8900x010 BRI AS M REREAR ]
80.0500x001 BEXDRISEEAR =%
80.0600x001 BEBEFIEAR =R
80.1200x002 HXBIIASPERR =%
80.1600x001 BEBIIFSRR =%
80.1700x002 X BT A wp
80.4400x001 EXDEIBEAR =%
80.4500x001 BXDEINBAR =
80.5100x008 BIABERIEEZ AR ]
80.5100x011 BAEBEEZINEAR [y
80.5100x013 B EEEHERNEA ]
80.5100x023 T RN IR RN AR [
80.5100x024 SRR DS EEERIDIS R ]
80.5100x025 SRR A [Py
80.5100x030 HERE FEAREEEZINRAR ]
80.5100x032 MRS TR IS RS ]
80.5100x033 RS T EAEERERINIRA [
80.5100x034 HERE TR REHEZINIRA L]
80.5100x035 B RIS EMERIIIEAR ]
80.5100x036 BRI CEEERIIIS R L]
80.5100x037 ZFIEREZIEZIIIRA [
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80.5100x038 IEHED R ESIZIN IR EHERIIER AR L]
80.5900x001 MR TR =
80.6x00x011 BXBETANEBRTEAR =R
80.6x04 BEIKEBIRITEA =
80.6x05 aeueasﬁaemhamtmﬁ =9
80.6x06 XDEBEXDEBIRIAIERA =9
80.6x07 XREERNEBRE SRR =4
80.6x08 X o EEIMUEBIREBDIEEAR =4
80.7800x002 BEXTPETHRXTBEIRAR =%
80.8600x009 BXDE THERA =%
80.8700x007 BEDETHEIRA =%
80.9900x001 EIESRORA ]
80.9900x004 BEREIEAR =
81.0200x001 BIABTHRSAR L]
81.0200x002 BISMUA SRR S A L]
81.0300x001 BABTHEMESAR L]
81.0400x004 BUIMUNESBItERE S AR L7
81.0400x005 BIYMU EZBBEHRIS R L]
81.0500x005 BFEIMUNEZBIHERE S AR L]
81.0500x006 EIMUNEZBIEEERE S AR L]
81.0600x005 BUIMUNEZEERES AR LS
81.0800x016 BEIMUAEREEHRIS A L]
81.0800x017 BEIMUNEZEEERAERE S R L]
81.0800x018 ZMEEFNIREHERISAR [P
81.1100x003 BEXPE FEXDEAR =4
81.1300x003 IEFXTRISA =
81.1700x003 AEBEER =
81.2300x005 BXLZEERER =%
81.3800x003 BIMUNESIEHEER L]
81.4600x001 EIEDHHER R =
81.4700x001 BT PR A =9
81.4700x005 BX15E T3 BIRpEREA =9
81.4700x013 BXBETFEBRRESR ]
81.4700x015 BXDETRERER =%
81.4700x017 BXPETORBIEER =%
81.4900x002 EXDE FINEREAR =%
81.4900x003 BXTETIRBESA =K
81.5200x004 A= LA ]
81.5400x004 BXDRERASIHA L]
81.5400x007 BXPREESRR ]
81.6400x003 ZRESHS L]
81.6600x001 ZRFHSERORIEAR L]
81.6600x002 EESIRET KA ]
81.6600x003 [ aAckites HE A L]
81.7100x003 BEXB AR HEAN =%
81.7200x003 EEXHRERA =
81.7200x006 EXDREEEAR =
81.7500x003 BiX 5 FTFCCREREAR =%
81.7500x004 BiX TS FTFCCIEM A =%
81.8300x001 BEBREAR =
81.8300x003 BEDEESEEA =
81.8300x006 BHEFAR =
81.8300x008 BXBETE#HERA ]
81.8300x009 BEATE FTHEERA ]
81.8500x001 PSRRI A =
81.9300x003 BEXDNEIEEEAR =%
81.9300x005 BiXBEEER =%
81.9300x007 EXPEESAR =
81.9300x008 ERXBNEHGEESA =&
81.9300x010 FXBHEERR =%
81.9400x001 EXTHHEAR =
81.9400x006 BATE FHEERAR =R




FARIZERED FARIZESMR FAERI
81.9400x007 BEXDE FwEEAR =5
81.9500x001 BEEIETSEE AR =
81.9600x003 EEEER =%
81.9600x009 XHIRBIEER =
81.9600x015 s A =K
81.9600x022 BXTE FBRXTRMEERHwEEAR =%
81.9600x023 BXDRNEERIHEEER =
81.9600x024 BXPETRETFIEEHER =5
81.9600x026 BXDETEREBANSISEEMEES R =5
81.9600x027 BEERNSFREEEES A =
81.9600x029 BRI BAR =
81.9600x030 BXDE FEREIMUSZIFHIARA =R
81.9600x031 BREIMUZIFEIARA =
81.9600x032 BXDIETERIIGEEAR [P
82.5600x002 FEREBSANBEBIEAR =
82.5700x001 FERNBEEIA =%
82.5900x001 FERABITBLRIA =
82.6100x002 BIgRE A =
82.8500x001 FEPNBEREIEAR =
82.8600x001 FERALERRRZA =
82.8600x006 FISANBERERZA =K
82.8600x013 (igANEErhREEEAR [FowleriX] =5
82.9100x004 FISNEREAR =
83.1300x007 BEEAREAR =%
83.1900x018 SRR IMA =%
83.1900x020 B ZEANER S IHEAR =%
83.1900x028 BRE AR =
83.2900x001 A ME. MFFER =R
83.2900x002 FINR ME, BR/UFSA =
83.2900x003 EME. #R. NBFEEAR =R
83.3200x001 SERNEEIRITEEAR =%
83.3900x001 IESERINEA =5
83.4500x013 APIERHTNEEA =
83.6500x019 S EERAPISES AR =
83.6500x020 MEPANPISES A =
83.6500x021 IETFERANPISES R =%
83.7600x013 ERNBEAAR =%
83.7700x001 TEANEBBEAR =
83.7700x009 LBRANEBINREEEFAFEIZER =%
83.7700x020 LB ANeSINREE R CEANB AR =%
83.7700x032 TFEEANBERIhAE TR (EAIBRIAR =
83.7900x005 HiEMBRAR =
83.7900x013 AR =%
83.8200x005 HiEniEsER =
83.8200x011 BXINBER =
83.8700x001 APIRERZAR =
83.8700x007 TFEEANPIRERA =
83.8700x009 BXABERAR =%
83.8800x001 IRBEE A =
83.8800x010 SEHEETSESIEH AR =
83.8800x012 EAEERERZ A =&
83.8800x014 BXPETE_LNNEIKLEIER =%
83.8800x015 X_EANEE SRR =
83.9100x001 XPETEBNERENMEAR =%
83.9100x005 FERANBEREEAR =%
84.0100x002 FIEXTEHA =%
84.0100x004 FIEEA =
84.1500x002 SRS EEEA =
84.3x00 HERIRAES R =
84.5100x003 PR EHRMSUEAR ]
84.5100x004 EEEHMSYEAR L]
84.5100x005 SHRREHMASYMBEAR L]




FARIZERED FARIZESMR FAERI
84.5100x006 REEBHRASMEANR AL
84.5500x004 ERESRIER =
84.5500x005 ERERGEERESTHIER =5
84.5700x001 KRIEFRIIENH AR =
84.5900x002 HEEREESEAR ]
84.7100x001 B FEEEIMNEIESR =
84.7300x001 HRASIEERRES =
85.2100x020 BETIABFRINEGRA =%
85.2100x023 BERE T BRI XERIRA L]
85.2300x001 ILIERER AR =%
85.2400x005 ST RMEIZLINGRAR =%
85.2400x006 BIZLEIRINEA =%
85.4100x001 EMZLENEA =%
85.4200x003 I FZLETIRR AR L]
85.4300x003 EBMELEIERMERMES B EEEAR =%
85.4300x004 e FRMILERRIBAAR ]
85.4500x001 EBF BRI RN Z alEi B & SIS A AL
85.4500x003 B TEMNZL ERaEIRERNMEaE B EEREAR [LLE]
85.5300x001 B BRIEEAR §?&
85.5400x001 RIMZLEERIFESAER =
85.7000x001 LETER ]
85.8700x003 LR =
86.3x10x067 BEE TR TAABRIDERAR §?&
86.4x01 L. G EIRIE SRR AR =R
86.6200x002 BRI EEAR =K
86.6900x010 LERRBEA =K
86.700x0013 R RIRTsEA =
86.700x0014 BRIREEIEA =
86.7100x009 ERilsTmEIA =%
86.7200x001 e BRI EEAR =
86.7300x003 FiHEEIREEAR =
86.7300x004 FEERIEEER =
86.7400x026 W RIBEEA =
86.7400x031 EIERIRISEA =
86.7400x033 SIREIEEER =
86.7400x041 B TFERRIEA =%
86.7400x042 SRR EEAR =K
86.7500x001 S RIMEEAR =
86.7500x011 SHERIMES A =
86.8300x033 TEIREEAR =K
86.8300x034 LFERIREER =%
86.8700x001 ETISEABEA =
86.8900x002 SRR SIS EER A =%
86.9600x005 IR ENEEAKR =%
86.9600x006 RERZRHBEEAR =R
86.9600x007 BERZENEEIEA =%
86.9600x008 ETHEBRNEEALR =%
88.4700x002 ISIETRIEkIERS =%
88.5500x002 BIRSEEKDIKEFAGIRNE ST =%
88.5600x002 AIESEEKTIKEFAGIFNE SR =%
88.5700x003 ZIRSERRCIIEFA BT NEISS =%
88.6200x001 s =
92.2700x002 SR FEANEATT =%
92.2700x004 [ B i r = Yhg =%
97.4400x003 TRk ERIBEE XIS [|ABPEEXR] =
98.1600x002 EEE T FERRYER =K
99.1000x006 ISERMKSE SIS =K
99.1000x007 BEHSER =
99.1000x008 RIS ER =R
99.1000x009 LRSS S =5
99.1000x010 LEEKSESE =%
99.1000x011 TEEHRKSE SRS =%




